{ , NOTE! SURFACE
HARDNESS>240HB

42CrMok TQ+T

— j—
D e

[To]
= 25 128

i %

= = 67
[N LM

— —

X <

[} ()

|
il
|
'
Df;‘3
9
_ @3). N
i

| ~ . W‘ _

S . AT =
e = ~
= 15x10° =
~F+ an
g. (125) 37 as
A (680) 162 2
987 >
[ama

33 33
— D85 D8.5 o

| ’ -

NN v RN

D85 /7//7 ‘ N \\ 33
“ N\ D85

D8.5

D8.5
D8.5
128
133
116
/ )’/
D8.5

m

v (¥)
Weight 79 kg

| 2
o~ - \
e A, ! = |A 1__|1 |Round bar D120-990 42CrMob TQ+T 19
_'_ | J L] L] No Qty |Description Specification Materiol code Scope | Sum Weight | Rev
k Appd' Dole Fila Scole Size
M10x1, depth 10 M10x1, depth 10 M10x1, depth 10 M10x1, depth 10 i 21.10.2003 | KM3050-JA.dg k25 L
JNi AXLE
D60 B-—B D6O Drawn
A-A — J. RUOTSALAINEN W tim
REQUIREMENTS for FABRICATION
THIS DOCUMENT IS THE ABSOLUTE PROPERTY OF KONECRANES VL and MATERIALS RTG1 6_ WH EEL STAN DAR D
CORPORATON, HS DOCUMENT MUST Ko B COPED WTHOUT THE ; A _[05.11.03] APPROVED FOR PRODUCTION Ru_[J¥ dhalbd Draving o. Rev
MY K KONCIANES NTERATONAL CORPOBATON, . GRS See Drawing ~ Gxxx-0P20 Rev oote . [Descrpton om_iosd [iin | KONEGRANES W.C CORP. | 10\ 1 3B ) | A A
7 RATORZED PAPORE. CONRAETN WAL B PROSECOED. (Gexx is Number of the Crane)  [inciced l ( [ FINLAND




